

3.

$$\begin{aligned}
 \text{a) } \lim_{x \rightarrow x_0} \frac{f(x) - f(x_0)}{x - x_0} &= \lim_{x \rightarrow x_0} \frac{f(x) - a_0}{x - x_0} \quad (f(x_0) = a_0 \text{ trivial as } \cancel{x-x_0} \text{ would vanish -}) \\
 &= \lim_{x \rightarrow x_0} \frac{a_1(x-x_0) + \dots + a_n(x-x_0)^n}{x-x_0} \\
 &= \lim_{x \rightarrow x_0} (a_1 + \dots + a_n(x-x_0)^{n-1}) = a_1 + 0 + \dots + 0 = a_1.
 \end{aligned}$$

Thus f is differentiable at x_0 .

$$\text{b) } f'(x) = x^3 \left(-\frac{1}{x^2}\right) (-\sin \frac{1}{x}) = x \sin \frac{1}{x} \quad (\text{continuous, as } x \neq 0).$$

$$f''(x) = \sin \frac{1}{x} + x \left(-\frac{1}{x^2}\right) \cos \frac{1}{x} = \sin \frac{1}{x} - \frac{1}{x} \cos \frac{1}{x} \quad (\text{this always exists if } x \neq 0).$$

Thus $f(x)$ admits a second order expansion.

$$\text{We know } \lim_{x \rightarrow 0} \frac{x^3 \cos(\frac{1}{x})}{x} = \lim_{x \rightarrow 0} x \cos(\frac{1}{x}) = 0. \text{ Thus } f(x) = o((x-x_0)^2) \text{ at } x_0 = 0.$$

↳ Second order expansion: $0 + o(x-x_0) + o((x-x_0)^2) + o((x-x_0)^2)$ at $x_0 = 0$.

$$\text{Hence } f''(x_0) = \lim_{x \rightarrow x_0} \frac{f'(x) - f'(x_0)}{x - x_0} = \lim_{x \rightarrow 0} \frac{f'(x) - f'(0)}{x}$$

↓

$$\frac{f'(x) - f'(0)}{x} = \lim_{x \rightarrow 0} \frac{f'(x) - f'(0)}{x} \quad \text{We see } x \text{ is not defined at } 0. \text{ Thus } f''(0) \text{ does not exist.}$$

Hence $a_2 \neq f''(x_0)$.

Assume

4. Let E be a random partition on $[0, 1] = [P_0, P_1, \dots, P_n]$, where $P_0 = 0, P_n = 1$.

$$U(P, f) = P_0^2 + P_1^2 + P_2^2 + \dots + P_n^2 - P_1 P_0 - P_2 P_1 - \dots - P_n P_{n-1} \quad (\mathbb{Q} \text{ dense in } \mathbb{R})$$

$$= P_1^2 + P_2^2 - P_2 P_1 + \dots + P_n^2 - P_n P_{n-1}$$

$$2U(P, f) = 2P_1^2 + 2P_2^2 - 2P_1 P_2 + \dots + 2P_n^2 - 2P_n P_{n-1}$$

$$= P_1^2 + (P_1^2 + P_2^2 - 2P_1 P_2) + (P_2^2 + P_3^2 - 2P_2 P_3) + \dots + (P_{n-1}^2 + P_n^2 - 2P_{n-1} P_n) + P_n^2$$

$$\geq P_1^2 + P_n^2 = 1.$$

$$U(P, f) \geq \frac{1}{2} \Rightarrow \inf_P \int_a^b f(x) dx = \inf_P U(P, f) = \frac{1}{2}.$$

$\mathbb{R} \setminus \mathbb{Q}$ dense in $\mathbb{R} \Rightarrow$ similar reasoning, $\int_a^b f(x) dx = \sup_P L(P, f) = 0$.

We see upper and lower integrals ~~are~~ not to agree. Hence f is not Riemann integrable.

5. ✓
Can use L'H.

a) ~~Yes~~ $\frac{\infty}{\infty}$ case. $\lim_{x \rightarrow \infty} \frac{x - \sin x}{2x + \sin x} = \lim_{x \rightarrow \infty} \frac{1 - \cos x}{2 + \cos x} \Rightarrow \text{DNE.}$

Original limit: $\lim_{x \rightarrow 0} \frac{1 - \sin x/x}{2 + \sin x/x} = \frac{1-0}{2+0} = \frac{1}{2}$.

b) $\lim_{x \rightarrow 0^+} \left(\frac{\sin x}{x}\right)^{1/x} = \lim_{x \rightarrow 0^+} e^{\ln\left(\frac{\sin x}{x}\right)^{1/x}} = \lim_{x \rightarrow 0^+} e^{\frac{1}{x} \ln \frac{\sin x}{x}} = e^{\lim_{x \rightarrow 0^+} \frac{\ln \frac{\sin x}{x}}{x}}$ ✓ $\frac{0}{0}$ case
Apply L'H.

$\lim_{x \rightarrow 0^+} \ln \frac{\sin x}{x} = \ln \lim_{x \rightarrow 0^+} \cos x = \ln 1 = 0$.

$\lim_{x \rightarrow 0^+} \frac{\ln \frac{\sin x}{x}}{x} = \lim_{x \rightarrow 0^+} \frac{x \cos x - \sin x}{x^2 \sin x} = \lim_{x \rightarrow 0^+} \frac{-x \sin x}{x \cos x + \sin x} = \lim_{x \rightarrow 0^+} \frac{-x \cos x}{\sin x / x \cos x + 1}$

$= \lim_{x \rightarrow 0^+} \frac{-x}{1/\cos x} = \lim_{x \rightarrow 0^+} \frac{-x \cos x}{1} = \lim_{x \rightarrow 0^+} \frac{-x}{1-1+1} = \frac{0}{1} = 0$.

Original limit: $e^0 = 1$.

c) $\frac{\infty}{\infty}$ case, apply L'H. ✓

To calculate original limit, the original limit DNE.

If it exists, then $= \lim_{x \rightarrow \infty} \frac{2x + \sin 2x + 1}{2x + \sin x} \cdot \lim_{x \rightarrow \infty} \frac{1}{(\sin x + 2)^2} = \lim_{x \rightarrow \infty} \frac{1}{(\sin x + 2)^2} \Rightarrow$ this DNE, contradiction.

6. $f''(x_0) = \lim_{h \rightarrow 0} \frac{f'(x_0+h) - f'(x_0)}{h}$. This must exist.

$f''(x_0) = \lim_{h \rightarrow 0} \frac{f'(x_0+h) - f'(x_0)}{h} = \lim_{h \rightarrow 0} \frac{f(x_0+h) - 2f(x_0) + f(x_0-h)}{h^2}$

$\lim_{h \rightarrow 0} \frac{f(x_0+h) - 2f(x_0) + f(x_0-h)}{h^2} = \lim_{h \rightarrow 0} \left(\frac{f(x_0+h) - f(x_0)}{h} - \frac{f(x_0) - f(x_0-h)}{h} \right) / h = \lim_{h \rightarrow 0} \frac{f'(x_0) - f'(x_0-h)}{h} = f''(x_0)$.

7. $f(x) = \frac{1}{2}(1+x)^{-\frac{1}{2}}$

$f''(x) = -\frac{1}{4}(1+x)^{-\frac{3}{2}}$

let $x_0 = 0$. $f(x) = 1 + \frac{1}{2}x + (-\frac{1}{4})\frac{x^2}{2} = 1 + \frac{x}{2} - \frac{x^2}{8}$.

Error term: $\exists \epsilon \in (-\frac{1}{8}, \frac{1}{8}) \Rightarrow -\frac{1}{8}(1+\epsilon)^{-\frac{3}{2}}x^2 = -(4(1+\epsilon))^{-\frac{3}{2}}x^2$

$= \frac{1}{(4(1+\epsilon))^{\frac{3}{2}}}x^2$. To maximize this, let $\epsilon = -\frac{1}{2}$.

\Rightarrow becomes $\frac{\sqrt{2}}{4}x^2$, still less than $\frac{|x|^3}{2}$.